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1.  𝑛 ∈ ℤ+                     

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. 𝑦 = ||𝑥 − 2| − 2|  

||𝑥 − 2| − 2| =
𝑥

2
   

 

 

 

 
 

 

 
 

 

 
 

 

 

 
 

 

 
 

 

 

 
 

  

        ∑ 2𝑟 = 2(2𝑛 − 1)

𝑛

𝑟=1

         

……………………………………………………………………………………………………………………

…………………………………....………………………………………………………………………………

…….……………………………………………………………………………………...………………………

……………………………………………………………………………………………………………………

…………………………....……………………………………………………………………………….………

…………………………………………………………………………………...…………………………………

……………………………………………………………………………………………………………………

……………….………………………………………………………………………….…………………………

…………………………………………………………………...…………………………………………………

……………………………………………………………………………………………………………………...

.……………………………………………………………………….……………………………………………

………………………………………………...……………………………………………………………………

…………………………………………………………………………………………………….………………

…………………………………………………….………………………………………………....................…

…………………………………..………………….............................………………………………….………

………………………………………....................……………………………..……………………...................

………………………………….………………………………………………....................……………………

…………………………………………………………………………………………………………………………

……………………………....…………………………………………………………………………………….…

…………………………………………………………………………………...……………………………………

…………………………………………………………………………………………………………………………

………....……………………………………………………………………………….……………………………

……………………………………………………………...…………………………………………………………

…………………………………………………………………………………………………………….…………

……………………………………………………………….………………………………………………………

……………………………………...…………………………………………………………………………………

……………………………………………………………………………………....…………………………………

…………………………………….…………………………………………………………………………………

…………...……………………………………………………………………………………………………………

…………………………………………………………….…………………………………………………………

………….………………………………………………....................……………………………………..…………

……….............................………………………………….………………………………………………..................

A  

[ ]



AL/2023/SS/10/S-I -  3 - 
  

 
 

3.  0 ≤ Arg Z ≤
π

3
   z  R 

   

R z |iZ + 2|  
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4. 𝑛 ∈ ℤ+  (1 + 𝑥)𝑛  𝑥   

(1 + 𝑥 + 𝑎𝑥2)7 𝑥2  14 𝑎 = −1  
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5.    𝑙𝑖𝑚
    x→

𝜋

4

  
2√𝑥−√𝜋

sin(𝑥−
𝜋

4
)

=
2

√𝜋
     

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6. 𝑓(𝑥) = (𝑥 + 1)𝑡𝑎𝑛−1(√𝑥) − √𝑥     
𝑑[𝑓(𝑥)]

𝑑𝑥
  

 ∫ 𝑡𝑎𝑛−1√𝑥  𝑑𝑥  

𝑥 = 3, 𝑦 = 0  𝑦 = √𝑡𝑎𝑛−1√𝑥  𝑥 −  2𝜋 

 
𝜋

3
(4𝜋 − 3√3)  
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7. 𝜃  𝑥 = 𝑎 𝑐𝑜𝑠 𝜃,   𝑦 = 𝑏 𝑠𝑖𝑛 𝜃    C  θ =  α   𝑃   𝐶 

  𝑎 𝑥 𝑠𝑒𝑐 𝛼 − 𝑏𝑦 𝑐𝑜𝑠𝑒𝑐 𝛼 + 𝑏2 − 𝑎2 = 0   

  (0 ≤ 𝛼 ≤ 𝜋)  .  𝐶  (−
𝑎

√2
,

𝑏

√2
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8. 𝑙 ≡ 𝑦 − 𝑚𝑥 = 0  4𝑥 + 3𝑦 − 𝑘 = 0  5𝑥 − 12𝑦 + 7 = 0 

𝑚  𝑘  𝑙 = 0  𝑥 + 𝑦 = 0 

𝑚  𝑘  
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9.  𝑦  𝑆  𝑥2  + 𝑦2  =  9  

𝑥2 + 𝑦2 + 𝑥 − 7𝑦 + 5 = 0 𝑆  𝑆 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

10. 𝑡𝑎𝑛 𝐴 =
5

12
  𝑠𝑖𝑛𝐵 =

4

5
  𝑠𝑖𝑛 (𝐴 + 𝐵)

𝜋 < 𝐴 <
3𝜋

2
    

𝜋

2
< 𝐵 < 𝜋 
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11 (a) 𝑎, 𝑏, 𝑐 ∈ ℝ, 𝑎 ≠ 0    𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0    𝑎, 𝑏   𝑐

  

 𝑓(𝑥) ≡ 𝑥2 − 𝑝2𝑞𝑥 + 𝑞2   .    𝑝, 𝑞 ∈ ℝ+  

 𝑓(𝑥) = 0 α  β  

(i) 𝛼
3

2 + 𝛽
3

2 𝑝 𝑞   

(ii) α    β  𝑝  

(iii) 𝑝 𝛼
3

2    𝛽
3

2    𝑞   
 

(b) 𝜆 ∈ ℝ+  𝑃(𝑥) ≡ 2𝑥3 + 𝑥2 − 2𝑥 +  𝜆   

(i) 𝜆 𝑃(𝑥) 𝜆  

(ii) – 𝜆 𝑃(𝑥)  𝜆  

(iii)  i) (ii) 𝜆  𝑃(𝑥) 𝑃(𝑥)

 

(iv) 𝐺(𝑥) ≡  𝑃(𝑥) + 3𝑥 + 2  𝑥2 + 1  

12 (a) 8 4 2

  

(i)  8  

(ii) 

 8

  

(iii) 

 

  

(b) 
𝑟2+3𝑟−1

(𝑟2−𝑟+1)( 𝑟2+𝑟+1)
=  

𝐴𝑟+𝐵

𝑟2−𝑟+1
−

𝐴𝑟+2𝐵

𝑟2+𝑟+1
 A  B  𝑟𝜖ℤ+  

𝑈𝑟 =  
𝑟2+3𝑟−1

(𝑟2−𝑟+1)(𝑟2+𝑟+1)
   𝑈𝑟 = 𝑓𝑟 − 𝑓𝑟+1  𝑓𝑟  

∑ 𝑈𝑟 = 2 −
(𝑛+2)

𝑛2+𝑛+1
𝑛
𝑟=1  

 

   𝑛  
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∑ 𝑈𝑟 < 2 −
11

91
 

𝑛

𝑟=1
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13 (a)  A =   ( 
2 1 
1 0

)  A B 𝜆𝐴 + 𝜇𝐼      

    

 𝜆    𝜇 𝐼    

 𝐵 =  𝐴2 𝜆    𝜇  𝐴−1  

(b)  𝑍6- 1 𝑍6 − 1 = 0  

𝑍1  𝑍2  𝑍6 = 1  

|𝑍1 − 𝑍2| 1, 2 √3  

(c) 𝑛 ’  

(
1+𝑠𝑖𝑛 𝜃+𝑖𝑐𝑜𝑠𝜃

1+𝑠𝑖𝑛𝜃−𝑖𝑐𝑜𝑠𝜃
)

𝑛

= 𝑐𝑜𝑠 𝑛 (
𝜋

2
− 𝜃) + 𝑖 𝑠𝑖𝑛 𝑛 (

𝜋

2
− 𝜃)   

(
1+𝑖

1−𝑖
)

2𝑛

= (−1)𝑛  

  

14  (a)  𝑥 ≠ −1 𝑓(𝑥) =  
𝑥(𝑥+3)

(𝑥+1)2 𝑓(𝑥) 𝑓′(𝑥)   

 𝑓′(𝑥) =  − 
(𝑥−3)

(𝑥+1)3  

𝑓(𝑥) 𝑥 𝑓(𝑥) 

 

𝑥 ≠ −1  𝑓′′(𝑥) =  
2(𝑥−5)

(𝑥+1)4 𝑦 = 𝑓(𝑥) 

 

𝑦 = 𝑓(𝑥)

 

 

(b)   2(𝑥 + 𝑦) 𝑥 

8𝜋  

𝑥 

𝑃  𝑃 = 𝜋 (𝑥 +
16

𝑥
) 𝑃   

𝑥

15 (a)   𝑥 ∈ ℝ  𝑥4 + 1 = 𝐴(𝑥4 − 1) + 𝐵(𝑥2 + 1)(𝑥 + 1) + 𝐶(𝑥2 + 1)(𝑥 − 1) − (𝑥2 − 1)  

A , B  C     ∫
𝑥4+1

𝑥4−1
𝑑𝑥  

(b) (i) 𝑦 = 𝑥 + 𝑐𝑜𝑠 𝑥 𝑠𝑖𝑛3𝑥    
𝑑𝑦

𝑑𝑥
= 1 + 3𝑠𝑖𝑛2𝑥 − 4𝑠𝑖𝑛4𝑥   

𝐼 = ∫  (𝑥 + 3𝑥 𝑠𝑖𝑛2𝑥 − 4𝑥 𝑠𝑖𝑛4𝑥) 𝑑𝑥
𝜋

2
0

   

(i)  

𝐼 =
1

8
(𝜋2 − 2) 

 

[
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     (ii) 𝐽1 = ∫  (1 + 3𝑐𝑜𝑠2𝑥 − 4𝑐𝑜𝑠4𝑥) 𝑑𝑥
𝜋

2
0

    

 𝐽2 = ∫  (𝑥 + 3𝑥 𝑐𝑜𝑠2𝑥 − 4𝑥 𝑐𝑜𝑠4𝑥) 𝑑𝑥
𝜋

2
0

  

 ∫  𝑓(𝑥) 𝑑𝑥 =
𝑎

0
∫  𝑓(𝑎 − 𝑥) 𝑑𝑥

𝑎

0
 𝐼 =

𝜋

2
𝐽1 − 𝐽2   𝐼 i

 

𝑑

𝑑𝑥
 (𝑥 − 𝑠𝑖𝑛𝑥 𝑐𝑜𝑠3𝑥) = 1 + 3𝑐𝑜𝑠2𝑥 − 4𝑐𝑜𝑠4𝑥  

𝐽2 =
1

8
(𝜋2 + 2) 𝐽1  

(c)  √𝑥3 + 1 = 𝑡 ∫
𝑥8

√𝑥3+1
 𝑑𝑥

2

0
   

16 𝑙1 ≡  𝑥 − √3𝑦 + 1 + 𝑘 = 0  𝑙2 ≡  𝑥 + √3𝑦 + 1 − 𝑘 = 0  (−1, 3)  𝑘 =

3√3 𝑘 𝑙1 = 0  𝑙2 = 0 

 𝑙  𝐴 ≡ (2,3)  𝑙 

 

𝐴 3  𝑆  

𝐴  𝑙1 = 0  (−1, 3)  𝑆 

 

   𝑙 = 0  𝑃  𝑆  𝑃 

 

17 (a) 

(i) 𝑐𝑜𝑠 𝐴 , 𝑐𝑜𝑠 𝐵 , 𝑠𝑖𝑛 𝐴   𝑠𝑖𝑛 𝐵  𝑐𝑜𝑠(𝐴 + 𝐵)   𝑐𝑜𝑠 3𝐴    

𝑐𝑜𝑠 𝐴  

(ii) 

 

𝜆 𝑘 

𝑓(𝑥) =
2 𝑐𝑜𝑠 3𝑥 − 4𝑐𝑜𝑠5𝑥 + 3𝑐𝑜𝑠3𝑥

𝑐𝑜𝑠𝑥(1 + 𝑠𝑖𝑛2𝑥)

𝑥𝜖[−𝜋, 𝜋]   𝑦 = 𝑓(𝑥)  

 

(b)    ABC  𝑃�̂�𝐵 = 𝑃�̂�𝐶 = 𝑃�̂�𝐴 = 𝛼 𝑃  

PC  

𝑐𝑜𝑡𝛼 = 𝑐𝑜𝑡𝐴 + 𝑐𝑜𝑡𝐵 + 𝑐𝑜𝑡𝐶  

(c) 𝑥𝜖 (0,
𝜋

2
)  2 𝑡𝑎𝑛−1 (𝑐𝑜𝑠 𝑥) = 𝑡𝑎𝑛−1(2𝑐𝑜𝑠𝑒𝑐 𝑥)   

 

 

   

 

*** 

2 cos 3𝑥 − 4𝑐𝑜𝑠5𝑥 + 3𝑐𝑜𝑠3𝑥

𝑐𝑜𝑠𝑥(1 + 𝑠𝑖𝑛2𝑥)
= 𝜆 𝑐𝑜𝑠 2𝑥 + 𝑘 


